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The figures in the margin indicate full marks
for the questions

1. Answer the following as directed : 1x10=10

woTo FRTERA RehR St f -

(a) The difference between traditional and
modern logic is not one of kind but of
degrees / qualities / languages.

( Choose the correct option )

TERITe WIE Wi oHRwEe sy
APNG F= IR 2 2 @91 / Q991 / S
A< |

( wm Rewest it Sferear )
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(b)

(c)

(d)

(e)

4]
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Every compound statement is truth-

functional. Is it true?

ArorPl!l @A B2 TOrOl TS | G200
TSI ?

pv4
AP
S.q
What is the name of this rule?
92 fPrmGR JF /82
Who is the author of the book,

Prior Analytics?
Prior Analytics &334 fo4g @192

A conjunctive function is true if any one
of the conjuncts is true. Is this statement
correct?

GBl FAGSE To 79 W AME o[ R @it
@bl FAGE TS 2 | FARE A5 2

Shorter truth table method is a part of
propositional logic / predicate logic.
( Choose the correct option )

5 A EF TSl Ol imfe Ieage
o / Ruae SHiwre 9ot we |

(= Rt afe Shreat )

( Continued )

(g)

(h)

(1)

G)

©o7q
(a)

(b)
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(3 )

Give an example of subjectless proposition.

CTRPMRRA 69 <l Swfze |
Truth or falsity is a property of logic /

proposition / argument.

( Choose the correct option )

Torel RS SPTOSl (XR SERGHH / J5+ /
e «f |

( wa Resot Af> Sfereat )

Ideograms directly stand for

( Fill in the blank )
RISV 22 SoppeiE for 3@

( A 312 =7 =41 )

Are symbols and signs same?

Ao IF 5% 9 @69

Answer the following questions in brief : 2x5=10

PIERE oY Swq fomt -

Give the definition of a proposition
according to modern logic.

Sl SR S e st |

Write two distinctions between logical
constant and variable.

SFH FIT IF b A ARSI 2=l o1
My fert |
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(c)

(d)

(e)

If A and B are true statements and X and
Y are false statements, then determine
whether the following is true or false :
M A 9IF B A9 W WF X AF Y e 7,
SR oere WA ) @ wrey Ny w4t
(Av X).(Y v B)

Mention two similarities between direct
and indirect truth table.

AT A AT Tl OIfiFR 7 Ayt
Y 4 |

Symbolize the following statements :

o RIfoze dONR Fofe oFi i
(i) If it doesn’t rain, then we shall go for
picnic.
3 g B, corRTE wify mrereta
g9 |

(ii) It is false that Russia has won the
war.

920 Rl @ AR e o |

3. Answer any four of the following questions -

5x4=20

oo eTRd R @I SifeR Ser e

(a)
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Write a short note on the characteristics
of symbolic logic.

AT SRS WREPRRT Ram ot vy
CGfl ferat |

( Continued )

(b)

(c)

(d)

(e)

(f)
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Distinguish between general proposition
and class-membership proposition.

TR 64 FF T ATl 571 WES A2
et a1 |

What is meant by interdefinability among
truth-functions? Explain.

oSl FEPHRd WEd  SIERA  (inter-
definability) 3F= & @2 i 4t |

Distinguish between inclusive and exclusive
sense of disjunctive truth-function.

Rarss storel 7 sEEte SiF Rsfe o
701 el fomere 34t |

State the rules of inference that are used
for constructing formal proof of validity.

@R IR oAl oioq IR TG T4l
Sl TR S 9 |

Write a short note on the uses of symbols
in logic.

wHREFe 49 I T 9 5y Gl
ferdt |
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(6 )
4. Answer the following questions : 10x4=40
Oe PR Ced fal

(a)

(b)
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What is general proposition? Explain the
classifications of general proposition with
proper examples. 2+8=10
4R I 62 TGS THIZIRTE AYRe o9
ciffIerem ot 39 |

Or / 94!
Discuss the points of similarities and
dissimilarities between traditional and
modern logic. 10
AFIS SiF Wi SHREFT TS g9l
APT TF FAPIPER S 34 |

What is logical connective? Give brief
introduction to different kinds of logical
connectives used in symbolic logic. 2+8=10
SR EET A 57 AT SRwime
Jze @ R[fen oy wEeRewE e
{67 s |
Or / 331

What is symbol? What is the role of
symbols in translating our everyday
language? 2+8=10
&1 52 SN Tl GRS el w1t e
TR TR CFAS ST SR @ISl 3991 |

( Continued )

e )

(c) What is truth-function? Construct truth
table for the basic truth-functions. 2+8=10

8417 G) B = 1 B = A ) 15 0 o (5 S S

(d)

A23/759

STopel Sifert 5w 4 |
Or / g2+

What is indirect truth

table method?

Construct indirect truth table to determine
the validity or invalidity of the following

arguments :

2+4+4=10

AT STopel Siferl 62 ooy ferzy Wael
I LS R SR @T Torel it

515 3
(i) (R.QvS
R
~Q/..S.R

(i) (PVQ).(~S.Q)
~ S
QI /il D

What is formal proof of validity? What are
the strategies for constructing a formal

proof of validity? Discuss.

2+8=10

QYOR IRFIRere A9 [$9 @EOR SRS
T SNOTT PR 5 e e T wq =2

HITEAG 41 |
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Or/ 921

Construct a formal proof of validity for the

following arguments : 5+5=10
O JETIRR FIC WHOI SAIPRNS 2f1eT 515w
4
(i) (~K.P)D(BVR)
~ K D (B D D)
~KV(RDE)

~K.P ../DVE

(ii) E D (F.~ G)

(FVvG)D H
E (st
* ok ok
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